GEOMETRY Date

3.3 and 3.4 Slopes and Equations of Lines

G.PL.4 Know that parallel lines have the same slope and perpendicular lines have opposite reciprocal slopes. Detennine
if' a pair of lines are parallel, perpendicular, or neither by comparing the slopes in coordinate graphs and in equations.
Find the equation of the line, passing through a given point, that is parallel or perpendicular to a given line,
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( Slope Postulates

. Two nonveruca} hnes have the same slope 1f and only 1f they ale paiallel __Sr\’ e
*All vertlcal hnes are pa.r-:.i f{ \ B AR _.: e ‘3 D\)Q

PN Two nonvertxcal lmes are perpendlculax 1f and on]y If the product of thelr slopes ls 1 6? ©*
. \ i *All vert1cal and horlzontal hnes are pt,r pen di oo |L- s (;5‘. Q’ O
Ex2:
Determine whether XY and WZ are parallel, perpendicular, or neither using the slope formula.
a.  X(9,5), Y(-1, 6), W(-8,2), Z(12, 4) b, X(9,-4), Y(-2,7), W(14, 8), Z(19, 13)
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Slope Intercept Form )
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Ex 3: Wme an equation in slope mterccpt form of the hne with slope of 5 and y-intercept of -9.

Ex 4: Write an equation in slope -intercept form for line that passes through (-4, 1) with a slope of 3.
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Ex 5: Write an equation in slope-intercept form for @ Tin¢ contatning (3, 2) that is perpendicular  ©#p*~ te \
to the line y ==k — 1. -7 ; fiCipeses
Lo N b
-1 VAR

P{’/? gﬂ;;;si‘; =

¥

Q/ MWW

Ex 6: Write an equation in slope-intercept form for a line containing (-2, 5) that is parallel <. . .
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Perpendicular Postulate ‘ s+ C '
: "Given a line and a point not on the line, then there
~ exists exactly o A€ line through the point _ . i N
L that is pes Pﬁ oedie e~ tothe given line. Y B
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= Two lines in a plane are parallel if they are everywhere < C; L { f’g; A %’

- The distance between two parallel lines is the PC s w n{i W w%ﬁf O\ LOﬂC €
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